# **West Leederville Primary School**





## PLEASE ORDER ONLINE AT www.campion.com.au

using "EV8H" as your code BEFORE Friday 19th October 2018
OR

SEND YOUR COMPLETED LIST TO CAMPION VIA DETAILS BELOW Orders can still be placed past the 'return date' but it may incur a late fee.

ALL ORDERS MUST BE PREPAID

## PREPACKAGED DELIVERY SERVICE STUDENT GIVEN NAME(s) STUDENT SURNAME **ADDRESS** POST CODE PARENT/GUARDIAN MOBILE/PHONE NUMBER **PARENT EMAIL ADDRESS** - REQUIRED SCHOOL SUPPLIED STUDENT **EMAIL ADDRESS** CREDIT CARD PREPAYMENT - WILL BE PROCESSED AT TIME OF ORDER ENTRY MasterCard Card No.: Cardholder's Name: Expiry Date: Signature: ▼ TEAR OFF SLIP - PLEASE RETAIN ▼ Your home delivery order will be dispatched the week ending 9th November 2018, if placed on or before the Return date of Friday 19th October 2018. The delivery service is FREE for orders placed by the 19th October 2018. After this date a delivery charge of up to \$8 will be charged.

PARENTS TO SUPPLY

2 x Large boxes of tissues

1 x Art shirt

1 x Reading / Library bag



# How to order your resources

## Helping your school / college

Please be aware that shopping with Campion, your school's/college's preferred supplier, ensures you receive the correct items and editions. You are also supporting your school/college as Campion assists your school community in many ways.

### **Options to order**

#### **Home delivery**

- Order online at <a href="www.campion.com.au">www.campion.com.au</a> before the date on the front of your resource list to guarantee supply of all items. All online orders must be prepaid.
- Ordering instructions
  - 1. Log on to www.campion.com.au
- 2. Click on Online ordering for parents and students.
- Create your account.
- Please note: Creating an account enables you to track your delivery through Australia Post, place orders for multiple students in multiple schools with just one payment, amend your order and retrieve digital access for ebooks.
  - 4. Select your school and enter in your 4-digit Resource List code, which is on the front page of this resource list.
  - 5. Select the year level and then choose the items you want to purchase. Then click on continue.
  - 6. Enter in your delivery option and complete details.
  - 7. Review and complete purchase.
  - 8. Once completed an order confirmation will be sent to your email address.
  - 9. If you have purchased any ebooks you will receive a seperate activation email. You will need to follow the instructions within the email to complete the set up of each product.
- Late Orders

Orders can still be placed online after your school's cutoff date, however these are considered late orders and may incur additional charges. Delivery of these orders cannot be guaranteed prior to the commencement of the school year.

#### 'While You Wait' collection service (Malaga or Willetton)

Please note long delays can be experienced in the two weeks prior to the commencement of the school year and availability of all stock lines cannot be guaranteed at this time. All back ordered items will be posted and a delivery fee will apply.

#### Malaga - 751 Marshall Road, Malaga (next to Stratco)



### Willetton - 28/32 Kembla Way, Willetton



### **Trading Hours**

Monday - Friday 9:00 am - 5:00 pm

Extended Trading Hours (21st Jan 2019 - 8th Feb 2019) Saturdays 8:30am - 2:00pm(Jan 19th, Jan 26th & Feb 2nd 2019)

#### Refunds

Refunds will be given on **TEXTBOOKS/WORKBOOKS ONLY** in **NEW** condition up to February 2019 or 2 weeks after the purchase date (whichever is later).

Digital products and Stationery items cannot be refunded.

We will gladly refund or exchange any goods deemed faulty from the manufacturer.

#### **Have a Question?**

Our website has answers to just about every question you might have, whether it's how to place your order, how to access your digital products or where to find our Retail Service Centres.

Visit www.campion.com.au/parents and find the answers you need quickly and easily.

# Please tick the items required in the box provided $\downarrow$

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	SCHOOL RESOURCES					
	PERSONAL ITEMS FOR STUDENT USE					
P58510	Eraser Plastic Pencil Large With Sleeve	1		4	0.40	1.60
P51615	Exercise Book A4 PP Cover 8mm 64 page	2		10	1.55	15.50
P51080	Exercise Book 2/3 A4 (A5) 8mm Ruled 64 Pages	3		3	1.60	4.80
P51629	Grid Book A4 PP Cover 10mm 48 page	4		1	1.35	1.35
P65021	Document Wallet Polydoc Foolscap Clear	5		2	2.35	4.70
P50670	Display Book A4 20 Pocket Clear Cover Blue Refillable	6		2	2.25	4.50
P50130	Glue Stick UHU 40 gm	7		4	3.30	13.20
P56081	Marker Artline #200 Black 0.4mm	8		2	3.60	7.20
P56095	Pen Ballpoint Cap Type Blue Medium	9		5	0.35	1.75
P56096	Pen Ballpoint Cap Type Red Medium	10		3	0.35	1.05
P56215	Pencil Case Tartan Jumbo 340mm x 170mm	11		1	3.10	3.10
P50152	Pencils Columbia Coloursketch Triangular Pkt 12's	12		1	3.25	3.25
P50493	Pencil (HB) Australian Made Natural	13		8	0.50	4.00
P56414	Ruler 300mm Plastic Clear	14		1	0.75	0.75
P56099	Pen Ballpoint Bic Crystal Green	15		1	0.60	0.60
P50261	Post it Notes 73mm x 73mm 3 Neon Colours	16		1	6.50	6.50
P50668	Sharpener Pencil Barrel Double Hole Metal (HQ)	17		1	5.95	5.95
P50161	Scissors 170mm Maped Plastic Handle	18		1	1.90	1.90
P55340	Compass CO5 Metal	19		1	2.95	2.95
P56353	Protractor 10 cm 180 4" Half Circle	20		1	0.45	0.45
P56291	Marker Artline #70 Black (Xylene Free)	21		1	4.30	4.30
P55808	Markers Connector Pens Wallet 12 Assorted	22		1	5.95	5.95
P51632	Scrapbook PP Cover Clear 64 page Spirax #152	23		4	2.20	8.80
P55043	Art Folio A3 Poly with Handle Slot	24		1	11.25	11.25
	Retain from previous year		_			
P56677	Visual Art Diary A3 110gsm 60 Sheet/120 Page	25		1	8.70	8.70
P56384	Recorder Yamaha Descant YRS-24B	26		1	16.95	16.95
	Retain from previous year		_			
P51112	Headphones Liquid Ears Over Head Kids	27		1	15.90	15.90
	Retain from previous year		_			
P01857	iMaths Student Book 6 - National Edition [Linthorne et al]	28		1	18.95	18.95
P01871	iMaths Tracker Book 6 - National Edition	29		1	8.95	8.95
	WLPS Diary - School Will Supply	30		1	15.00	15.00
	VOLUNTARY CONTRIBUTIONS					
	While the following contributions are voluntary, the					
	quality of our teaching and learning program will be					
	maximised when all families contribute.					
	1. SCHOOL VOLUNTARY CONTRIBUTION					
	Voluntary Contribution Per Child	31		1	60.00	60.00
	2. DIGITAL TECHNOLOGY VOLUNTARY CONTRIBUTION					
	Digital technology contribution per child	32		1	30.00	30.00
	3. P&C VOLUNTARY CONTRIBUTION					
	P & C Contribution per child	33		1	70.00	70.00
	- OR -					
	P & C Contribution 3 children or more	34		1	200.00	200.00

## Please tick the items required in the box provided $\downarrow$

Item Item
No. Regd

m qd Qty Unit Reqd Price \$

Total Amount \$

Office Use

Description

#### PARENTS PLEASE NOTE:

#### SCHOOL VOLUNTARY CONTRIBUTION

We are deeply reliant on our community paying their Charges and Voluntary Contributions. Without these funds, the delivery of many of our learning programs would receive significantly less resources and the co-curricular programs and opportunities that we consider an important part of our students' education would not be possible. Without your support, the school is simply not in a position to be able to deliver the levels of access and quality our students presently enjoy.

DIGITAL TECHNOLOGY VOLUNTARY CONTRIBUTION
The integration of digital technologies into the education
program engages students and enables them to develop the
skills and habits to become innovative 21st century
citizens. We are very proud of the information technology
infrastructure and culture at WLPS. Parents are requested
to contribute to the costs associated with maintaining
appropriate levels of support for information technology.
P&C DONATION

WLPS collects a voluntary contribution of \$70 per student, capped at \$200 per family on behalf of the Parents and Citizen's Association. Funds raised through this voluntary contribution are then strategically allocated by the P&C to support different programs and initiatives. With the transfer of AFL games from Subiaco Oval to Perth Stadium in 2018, the P&C have lost a valuable fundraiser in football parking and will be more reliant on payment of this donation to achieve their goals.

Number of Boxes ticked:	
Delivery, packaging & handling	\$0.00
ESTIMATED AMOUNT DUE (PRICES CORRECT AT 10/09/18)	\$